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Aufgabe 1
Berechne und kiirze das Ergebnis soweit wie moglich.

99 55 82 14 31 14 59 37 79 29
) 17 13 b) 550 ©) 3133 )% 5 ©) 20 61

42 57 69 71 55 9 o 24 41 81 55
3532 8) 83" 98 h) 73 - 23 )93 1) 100 * 86
Aufgabe 2
Berechne und kiirze das Ergebnis soweit wie moglich.

4 2 15 27 3 1 10 10 5 17
a) 25 * 31 b) 29 " 29 )13 49311 ) 7%

18 13 13 7 17 13 17 1 N 217
2329 8) 21 23 h) 25 2 )39 V7=
Aufgabe 3
Berechne und kiirze das Ergebnis soweit wie moglich.

1 .5 37 21 44 33 47 17 13 41
a) a7 " 7 b) 3330 ©) 3750 41521 )220

5 39 49 48 35 49 & 143 11 4
3523 8 39 11 h) 57 - 31 921 VT3
Aufgabe 4
Berechne und kiirze das Ergebnis soweit wie moglich.

2 2 1 1 1 2 5 5 17 1
a) 23 - 13 b) 725 )11 - 15 2155 ©) 3T 17

27 120 11 6 11 7 N 2.9 .~ 10 35
f) 17153 &) 14 29 h) 115115 )3 11 DR v

Viel Erfolg!

www.dw-aufgaben.de Selte ]_ bsp-5786-2/QVGN



